Term 121: Principles of Economics I (Microeconomics) Quiz 2: Chapters 3 and 4
Refer to the information provided in Figure 4.6 below to answer the questions that follow.

Equilibrium in this market occurs at the intersection of curves S and D.
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Figure 4.6 

1) In figure 4.6 the deadweight loss due to under production is area [C + F] if price is      

A) P1.      B) P2.      C) P3.      D) > P3.

Refer to the information provided in Figure 3.2 below to answer the questions that follow.
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Figure 3.2

2) Refer to Figure 3.2. Which of the following would be most likely to cause the demand for macaroni and cheese to shift from D0 to D1?      

A) a decrease in income, assuming macaroni and cheese is a normal good

B) an increase in the price of flour used to make macaroni and cheese

C) an increase in the price of macaroni and cheese

D) an increase in the quantity demanded for macaroni and cheese.

Refer to the information provided in Figure 4.1 below to answer the questions that follow.
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Figure 4.1

3) Refer to Figure 4.1. The United States will import 2 million apples per day if a per-apple tax of ________ is levied on imported apples.      

A) 10 cents      B) 20 cents      C) 30 cents      D) 40 cents

4) A government-imposed maximum price will have no economic impact if      

A) it is at or below the equilibrium price.      B) it is above the equilibrium price.

C) it is below the equilibrium price.      D) there is a fixed supply of the good.

5) In factor, or input, markets      1) _______

A) households demand goods.      B) firms supply goods.

C) consumers purchase products.      D) firms demand resources

Answer Key

1. A

2. A

3. A

4. B

5. D

